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 
            –  
3                 4   20102011 

 
 

 
)(3NH 

1  
2 ) /( الداخلتین في التفاعل. 
3    2 110 .bc mol l  110,9 .f ms m 

025 C 
31              

 
32 )(.  
33K 

34KaK)3( )gNH/4( )aqNH (

apK 

4 pHpH20bV mL

 )3H O Cl (2 12 10 .aC mol l   
41 
42 
435mlpH9.2 

 
14 010 (25 )ek C ;2 1( ) 19,2 . .OH ms m mol   ;2 1

4( ) 7,4 . .NH ms m mol   
 

 
                
2 2( ) 2( ) 2 ( )2 2aq g lH O O H O  

100V ml
26 10 /C mol l 0t 

 
 

60 40 30 25 20 15 10 5 0 ( )t mn 
0,28 0,90 1,5 1,8 2,3 3,0 3,8 4,7 6,0   2

2 2 10 /H O mol l 
         ( . )x m mol 

1         2 2( )in H O     

0t 2 2( )n H Otx 
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2 x 
3 ( )x f t0,5 1mmol cm5 1mn cm 
4 1 5t mn2 30t mn 
5  
 

 

210
84Po 

1 82Pb80Hg83Bi86Rn 

2 0t 0N210
84PotN

0ln( / )N Nt 
    N 0N t  

0ln( / ) ( )N N f t  
       

 
1

2
t1

2
t 

3       0N
      
( ) /A t dN dt  

  ( )A t0Nt 
  0A 

  ( )Bq0A14
0 2,00 10N   

 
 

1 

          261,0 10Nm kg  

 302,0 10Sm kg            
94,5 10NR km  

11  
12  
13  
2 
21v 
22  T             

3

2
.
N

s

RT
G m

G116,67 10 .G S I  

23TTT 



 3  4 
  

  T ( j ) R ( km ) 
 88 58  106 
 365 150  106 
 687 228  106 

 4,33  103 778  106 
 1,08  104 1,43  109 

 …….. 2,87  109 
 6,02  104 …….. 

 

 

3 
         

    R    T 
 

31 
32 
33  


2 2

3

4
. s

T
R G m


 

34sm 
 

 


 L  r     17,5R    
6,00E VK01
0t  

   
( )i f t02 

1  
          

 
  rL 
2  

  0Idi i
dt  

 

0I 
         

0 1
t

i I e 
 

  
 

 

3     L  
      

     
 

20 12 8 4 ( )ms 
0.5 0.3 0.2 0.1 ( )L H 

  ( )L h  
   

r1 
 

01 

 

 

02 



 4  4 
  

 
 

       –       1000m 10000m 

040 C 
                

160 /km h13gO1500m
3,0cm 

OOZ 

29,80 .g m s  

34
3

V r31,3 .kg m  

1 
1  
2           

Gt 
3  

2 

      


    f


      
2f kv 

1 k 
2  

3 

1 2dv A Bv
dt

 AB
 

2 AB
29,80 .A m s 2 11,56 10B m   

3  
       

 
 

 
 
 
 
 
 
 

.                                          


